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EXCERSISE 9
· For ground acceleration 0.15g we compute the minR
ag=0.15g=150cm/s2
lnag=3.88+1.12Ms-1.65ln(R+15)

ln150=3.88+1.12Ms-1.65ln(R+15)

· Μs=6.0
ln150=3.88+1.12x6-1.65ln(R+15)

R=14.59km

· Ms=7.0

ln150=3.88+1.12x7-1.65ln(R+15)

R=43.3km>40km (the whole area)

Fault: Μ=6.0, Ν1,6=1/10=0.10

Fault: Μ=7.0, Ν1,7=1/100=0.01

Ν1,6’=Ν1,6xA’/A=0.10x2x14.59/40=0.07295
N1,7’=N1,7=0.01

N1,tot=0.07295+0.01=0.08295
The probability of exceeding the acceleration 0.15g in 50 years is:

p(t)=1-e-N1,totxt=1-e-0.08295x50=98.4%

· For 0.50g we follow the same procedure and we get the results:

· Ms=6.0, ln500=3.88+1.12x6-1.65ln(R+15), Rmin=-0.73km
· Ms=7.0, ln500=3.88+1.12x7-1.65ln(R+15), Rmin=13.123

N1,tot=N1,6’+N1,7’=0+0.01x2x13.123/40=0.00656
The probability of exceeding the acceleration 0.50g in 50 years is:

p(t)=1-e-N1,totxt=1-e-0.00656x50=28%
